The direct current

A supporting

A kind Form name Input Load Accuracy] Conversion
output power supply
AC Current ACS, 1A 0.5% R o -
AGP-E[L) _v:t_l..a value operation
limiter
Resistance - 200 degress Celsius - 0-100mW 600 {1 .82 .
CGP 5 0.5% PT, JFT
temperature +500 degrees Calsius  [0-1V 600 () .. == ‘
otaor DGP ':I-%'u' ) 600 . ==
. DGP-L 2;3" g% g . limiter i
:"'f:'i" ;:E"-‘d ;;3::[ 0-1ma 0- 10k o2k [—
solatar : 5
A DC voltage, 2 direct 0-10mA 0 - 1k iiter
Reverse DGP-R current A-20md 0-550 0
Isolator DGP-RL limiter
Absolute walue
output DGP-W 0.25%
Isolator
0 - pulss EGP A DC voltage, a direct |0.005-1000Hz 0.5, 5,50mEEC 0.5%
P EGP-Z current B67-10kHz
Frequency FGP 45-65Hz 0.5%
Thermocouple IGP 1,200 degrees Celsius 0.5% K.EJTR,B.S5N
Paotentio meter KGR 100 ﬂ - 10kD 0.5%
KGP-T " 2 line type
. . A DCwoltage, & direct ,
A limear riser LMP current oe 24y 0.5%
PGP ACL00/110V 0.25%  |Supply DC24V
D istributor DC 4-20ma N
PGR-C AC200/220V 0.5% There is no insulation
praEw—— o O voh prrm—— DC100/110V
aiping operation aGe voltage, 2 dire 0.5%
device current
TGP -1 y ==
Number of 0 :EOm‘. 600 ... _
. Woltage [ pulse 30kHz |0-1v 600 1) ... . It is with a sensar power
revolutions TiGP-O 0.5%
; . 0-5W 600 (2 .. == supply
CApulse) aw
TGP-S [voltage / pulse 20kHz |0-10W 600 02 .= A slow pulse
- 0-5W 600 . ==
Subtraction device UGP-L) :F'-".u:r:':i:tultage, 2 direct O-1ma 0 - 10kD) 0.5% limiter
. 0-10ma 0-1k2 o
VGEP|L 4 20maA 0-550 01 "::it:r"‘ = mean
AL Voltage AC 150, 300V 0.5% R 0 -
VGP-E[L) .v:t.l..a value operation
limiter
Adder wep-[y) [*PCvolegs, 2 direct D53 |limiter
current
Muttiplier xgp |PDCvoltage, 2 direct 0.5%
current
Division device vgp |*DCvoltsge, 2 direct 0.5%
current
Primary dalzy ragp |4 DCvolt=ge, 2 direct 0.5%
current
Pulse REGP OM, an OFF pulse Avoltage pulse S
An isolator RBGP-D |Awvoltage pulse An open drain It is with a sensor power

supply




